### **TO: CITY COMMISSION** CITY OF MARGATE

(Please fill in all blanks and return with your proposal)

In accordance with your request for proposals and the specifications cotnained herein, the un-

### CITY OF MARGATE SANITARY FORCE MAIN IMPROVEMENTS CAS PROJECT NO. 11-1610

1. BIDDER AGREES TO PERFORM ALL THE WORK DESCRIBED IN THE CONTRACT DOCUMENTS TO PROVIDE A COMPLETE PROJECT AS SHOWN ON THE PLANS AND SPECIFICATIONS FOR THE FOLLOWING LUMP SUM AND/OR UNIT PRICES.

2.THE CITY RESERVES THE RIGHT TO SUBSTITUTE AND/OR DELETE ITEMS AS NECESSARY TO MEET FUNDING BUDGET.

3. BIDS SHALL INCLUDE SALES TAX AND ALL OTHER APPLICABLE TAXES AND

4. ANY DISCREPANCY BETWEEN THE UNIT AND THE TOTAL, THE UNIT COST

5. BIDDER IS TO INCLUDES FULL RESTORATION COSTS INTO THEIR UNIT PRICES EXCEPT FOR THE FINAL LIFT OF ASPHALT.

ITEM NO		
	DESCRIPTION	QUANTITY UNIT

Note: City permit fees shall not be waived and should be included in your proposal.

THE LUMP SUM (LS) PRICES FOR ITEMS 1-4 SHALL BE DONE IN ACCORDANCE WITH THE CONTRACT DOCUMENTS AND SPECIFICATIONS AND ALL APPLICABLE FEDERAL, STATE, AND LOCAL REQUIREMENTS. COSTS FOR PRE-CONSTRUCTION SURVEY, OFF-DUTY POLICE OFFICERS, AND CONSTRUCTION PHOTGRAPHS ARE TO BE INCORPORATED INTO ITEM 1.

				Metro Equipment Service, Inc.			The Redland Company, Inc.					<u>Giannetti C</u>	Corp.	V Engineering & Consulting Corp.				
1	Mobilization and Demobilization	1	LS	\$ 250,000.00	\$	250,000.00	\$	118,000.00	\$	118,000.00	\$	40,000.00	\$	40,000.00	\$	200,000.00	\$	200,000.00
2	Maintenance of Traffic	1	LS	\$ 100,000.00	\$	100,000.00	\$	63,100.00	\$	63,100.00	\$	13,200.00	\$	13,200.00	\$	108,000.00	\$	108,000.00
3	Survey Stakeout and As-Builts	1	LS	\$ 45,000.00	\$	45,000.00	\$	11,000.00	\$	11,000.00	\$	10,200.00	\$	10,200.00	\$	10,000.00	\$	10,000.00
4	Density Testing	1	LS _	\$ 20,000.00	\$	20,000.00	\$	4,200.00	\$	4,200.00	\$	3,170.00	\$	3,170.00	\$	1,500.00	\$	1,500.00

The Redland Company, Inc.

# Giannetti Contracting Corp.

### **ROAD WORK ITEMS 5 - 9**

THE PRICE FOR EACH DEMOLITION AND ROAD WORK ITEM SHALL INCLUDE BUT NOT BE LIMITED TO ALL LABOR, EQUIPMENT AND MATERIALS NECESSARY TO INSTALL AND CONSTRUCT THESE ITEMS IN ACCORDANCE WITH THESE CONTRACT DOCUMENTS WHICH INCLUDE ALL SAW CUTTING, ASPHALT REMOVAL AND DISPOSAL, EXCAVATION, DE-WATERING, DE-WATERING PERMITS, ABANDONMENT, REMOVAL OR RELOCATION OF EXISTING UTILITIES, BEDDING MATERIAL, BACKFILL BASE MATERIAL, BACKFILL LIMEROCK BASE MATERIAL, COMPACTION, MATERIAL TO BE RESTORED TO SAME ELEVATION AS EXISTING ASPHALT PAVEMENT (GRADE TO SLOPE) GRADING, PAVEMENT INSTALLATION, SOD REPLACEMENT, REGRADING OF EXISTING ROAD SURFACES, MIXING AND REGRADING OF EXISTING BASE MATERIAL, DRIVEWAY INSTALLATION, STRIPING AND SIGNALIZATION REPAIR, TESTING, INSPECTIONS AND ANY OTHER MISCELLANEOUS WORK. NO ADDITIONAL COMPENSATION SHALL BE MADE FOR CHANGES IN ALIGNMENT OR GRADE TO AVOID EXISTING INFRASTRUCTURE UNLESS THE EXCAVATIONS EXCEED TEN (10) FEET IN DEPTH.

5	1 1/4" Asphalt Overlay	5000	SY	\$ 6.00	\$ 30,000.00	\$ 14.00	\$ 70,000.00	\$ 8.70	\$ 43,500.00	\$ 7.00	\$ 35,000.00
6	1 1/2" Type S-III Asphalt Pavement	150	SY	\$ 15.00	\$ 2,250.00	\$ 28.00	\$ 4,200.00	\$ 23.30	\$ 3,495.00	\$ 44.00	\$ 6,600.00
7	8" Compacted Limerock Base	160	SY	\$ 20.00	\$ 3,200.00	\$ 15.00	\$ 2,400.00	\$ 15.80	\$ 2,528.00	\$ 40.00	\$ 6,400.00
8	12" Compacted Sub-base (LBR 40)	160	SY	\$ 3.00	\$ 480.00	\$ 6.00	\$ 960.00	\$ 5.00	\$ 800.00	\$ 32.00	\$ 5,120.00
9	Striping	1	LS	\$ 40,000.00	\$ 40,000.00	\$ 9,700.00	\$ 9,700.00	\$ 3,410.00	\$ 3,410.00	\$ 10,000.00	\$ 10,000.00

## SANITARY FORCE MAIN AND APPURTENANCES - ITEMS 10-37

### (INCLUDES FULL RESTORATION)

THE PRICE FOR EACH SANITARY FORCE MAIN CONSTRUCTION ITEM SHALL INCLUDE BUT NOT BE LIMITED TO ALL LABOR, EQUIPMENT AND MATERIALS NECESSARY TO INSTALL AND CONSTRUCT THESE ITEMS IN ACCORDANCE WITH THESE CONTRACT DOCUMENTS WHICH INCLUDE ALL SAW CUTTING, ASPHALT REMOVAL AND DISPOSAL, EXCAVATION, SHEETING, DE-WATERING, DE-WATERING PERMITS, PIPE, CONNECTION TO EXISTING UTILITIES, DEFLECTION TO AVOID EXISTING UTILITIES, TRACER WIRE AND APPURTENANCES, BEDDING MATERIAL, BACKFILL BASE MATERIAL, BACKFILL LIMEROCK BASE MATERIAL, COMPACTION, MATERIAL TO BE RESTORED TO SAME ELEVATION AS EXISTING ASPHALT PAVEMENT (GRADE TO SLOPE) GRADING, SIDEWALKS, CURBING, FLUMES, FENCING, LANDSCAPE RESTORATION, SOD, CLAY BALLFIELD RESTORATION, BALLFIELD SOD RESTORATION, TESTING, INSPECTIONS AND ANY OTHER MISCELLANEOUS WORK. NO ADDITIONAL COMPENSATION SHALL BE MADE FOR CHANGES IN ALIGNMENT OR GRADE TO AVOID EXISTING INFRASTRUCTURE UNLESS THE EXCAVATIONS EXCEED TEN (10) FEET IN DEPTH.

10	20" DIP Sanitary Force Main	3300	LF _	\$ 100.00	\$ 330,000.00	\$	160.00	\$ 528,000.00	\$ 204.00	\$ 673,200.00	\$ 230.00	\$ 759,000.00
11	20" DIP Sanitary Force Main (Jack & Bore w/ 36" Sleeve)	135	LF _	\$ 550.00	\$ 74,250.00	<b>\$</b> 1, <sup>2</sup>	,100.00	\$ 148,500.00	\$ 1,710.00	\$ 230,850.00	\$ 300.00	\$ 40,500.00
12	20" HDPE (DIPS) Sanitary Force Main (DR 11)	950	LF _	\$ 138.00	\$ 131,100.00	\$	190.00	\$ 180,500.00	\$ 284.00	\$ 269,800.00	\$ 100.00	\$ 95,000.00
13	12" DIP Sanitary Force Main	25	LF _	\$ 100.00	\$ 2,500.00	\$	115.00	\$ 2,875.00	\$ 120.00	\$ 3,000.00	\$ 150.00	\$ 3,750.00
14	6" DIP Sanitary Force Main	650	LF _	\$ 40.00	\$ 26,000.00	\$	84.00	\$ 54,600.00	\$ 69.60	\$ 45,240.00	\$ 122.00	\$ 79,300.00
15	20" Gate Valve	5	EA	\$ 9,540.00	\$ 47,700.00	\$ 13,6	,665.00	\$ 68,325.00	\$ 11,300.00	\$ 56,500.00	\$ 25,000.00	\$ 125,000.00
16	12" Gate Valve w/ Mymax Coupling	2	EA	\$ 6,000.00	\$ 12,000.00	\$ 3,0	,000.00	\$ 6,000.00	\$ 2,710.00	\$ 5,420.00	\$ 6,500.00	\$ 13,000.00
17	6" Gate Valve	2	EA	\$ 3,200.00	\$ 6,400.00	\$ 1,4	,400.00	\$ 2,800.00	\$ 890.00	\$ 1,780.00	\$ 2,000.00	\$ 4,000.00
18	Automatic Air Release Valve w/ Box	5	EA	\$ 7,500.00	\$ 37,500.00	\$ 4,7	,700.00	\$ 23,500.00	\$ 4,230.00	\$ 21,150.00	\$ 12,500.00	\$ 62,500.00
19	36" x 20" Tapping Sleeve	1	EA	\$ 55,000.00	\$ 55,000.00	\$ 24,0	,000.00	\$ 24,000.00	\$ 27,900.00	\$ 27,900.00	\$ 32,000.00	\$ 32,000.00

# V Engineering & Consulting Corp.

			Metro Equipment Service, Inc.			<u>ce, Inc.</u>	The Redlan	d Compar	ny, Inc.	Giannetti Contracting Corp.					V Engineering & Consulting Corp.				
20	20" x 20" Tee (MJ)	1	EA \$	5,000.00	\$	5,000.00	\$ 3,200.00	\$	3,200.00	\$	3,050.00	\$	3,050.00	\$	2,200.00	\$	2,200.00		
21	20" x 6" Tee (MJ)	1	EA <u></u> \$	3,100.00	\$	3,100.00	\$ 2,200.00	\$	2,200.00	\$	2,500.00	\$	2,500.00	\$	2,200.00	\$	2,200.00		
22	6" x 6" Cut-In Tee	1	EA <u>\$</u>	20,000.00	\$	20,000.00	\$ 800.00	\$	800.00	\$	1,020.00	\$	1,020.00	\$	4,500.00	\$	4,500.00		
23	20" x 90° Bend (MJ)	7	EA <u>\$</u>	1,700.00	\$	11,900.00	\$ 3,150.00	\$	22,050.00	\$	2,510.00	\$	17,570.00	\$	1,200.00	\$	8,400.00		
24	6" x 90° Bend (MJ)	3	EA <u>\$</u>	275.00	\$	825.00	\$ 700.00	\$	2,100.00	\$	460.00	\$	1,380.00	\$	800.00	\$	2,400.00		
25	20" x 45° Bend (MJ)	15	EA \$	1,700.00	\$	25,500.00	\$ 3,150.00	\$	47,250.00	\$	2,300.00	\$	34,500.00	\$	2,500.00	\$	37,500.00		
26	6" x 45° Bend (MJ)	2	EA <u>\$</u>	230.00	\$	460.00	\$ 500.00	\$	1,000.00	\$	450.00	\$	900.00	\$	900.00	\$	1,800.00		
27	20" x 22.5° Bend (MJ)	2	EA <u>\$</u>	1,800.00	\$	3,600.00	\$ 3,000.00	\$	6,000.00	\$	2,350.00	\$	4,700.00	\$	2,000.00	\$	4,000.00		
28	12" x 22.5° Bend (MJ)	2	EA <u>\$</u>	550.00	\$	1,100.00	\$ 1,500.00	\$	3,000.00	\$	790.00	\$	1,580.00	\$	1,500.00	\$	3,000.00		
29	20" x 11.25° Bend (MJ)	7	EA <u>\$</u>	1,500.00	\$	10,500.00	\$ 2,500.00	\$	17,500.00	\$	2,270.00	\$	15,890.00	\$	1,900.00	\$	13,300.00		
30	12" x 11.25° Bend (MJ)	2	EA <u>\$</u>	540.00	\$	1,080.00	\$ 1,500.00	\$	3,000.00	\$	1,100.00	\$	2,200.00	\$	500.00	\$	1,000.00		
31	6" x 11.25° Bend (MJ)	3	EA <u>\$</u>	450.00	\$	1,350.00	\$ 750.00	\$	2,250.00	\$	450.00	\$	1,350.00	\$	100.00	\$	300.00		
32	20" x 12" Reducer (MJ)	2	EA \$	2,400.00	\$	4,800.00	\$ 1,500.00	\$	3,000.00	\$	1,950.00	\$	3,900.00	\$	2,300.00	\$	4,600.00		
33	12" Plug	1	EA <u>\$</u>	600.00	\$	600.00	\$ 2,500.00	\$	2,500.00	\$	530.00	\$	530.00	\$	470.00	\$	470.00		
34	6" Plug	1	EA <u>\$</u>	200.00	\$	200.00	\$ 680.00	\$	680.00	\$	350.00	\$	350.00	\$	100.00	\$	100.00		
35	Connect to Exist. 36" FM at Margate WW/WTP	1	LS <u>\$</u>	40,000.00	\$	40,000.00	\$ 8,200.00	\$	8,200.00	\$	6,000.00	\$	6,000.00	\$	40,000.00	\$	40,000.00		
36	Connect to Exist. 6" Force Main on East River Drive	1	LS <u></u> \$	16,000.00	\$	16,000.00	\$ 4,500.00	\$	4,500.00	\$	6,000.00	\$	6,000.00	\$	10,000.00	\$	10,000.00		
37	Connect to Exist. 12" Force Main on US 441	1	LS <u>\$</u>	25,000.00	\$	25,000.00	\$ 6,200.00	\$	6,200.00	\$	6,000.00	\$	6,000.00	\$	12,000.00	\$	12,000.00		

## Metro Equipment Service, Inc.

The Redland Company, Inc.

Giannetti Contracting Corp.

**MISCELLANEOUS - ITEMS 38-44** 

# (INCLUDES FULL RESTORATION)

THE PRICE FOR EACH MISCELLANEOUS CONSTRUCTION ITEM SHALL INCLUDE BUT NOT BE LIMITED TO ALL LABOR, EQUIPMENT AND MATERIALS NECESSARY TO INSTALL AND CONSTRUCT THESE ITEMS IN ACCORDANCE WITH THESE CONTRACT DOCUMENTS WHICH INCLUDE ALL SAW CUTTING, ASPHALT REMOVAL AND DISPOSAL, EXCAVATION, SHEETING, DE-WATERING, DE-WATERING PERMITS, PIPE, CONNECTION TO EXISTING UTILITIES, DEFLECTION TO AVOID EXISTING UTILITIES, TRACER WIRE AND APPURTENANCES, BEDDING MATERIAL, BACKFILL BASE MATERIAL, BACKFILL LIMEROCK BASE MATERIAL, COMPACTION, MATERIAL TO BE RESTORED TO SAME ELEVATION AS EXISTING ASPHALT PAVEMENT (GRADE TO SLOPE) GRADING, SIDEWALKS, CURBING, FLUMES, FENCING, LANDSCAPE RESTORATION, SOD, CLAY BALLFIELD RESTORATION, BALLFIELD SOD RESTORATION, TESTING, INSPECTIONS AND ANY OTHER MISCELLANEOUS WORK. NO ADDITIONAL COMPENSATION SHALL BE MADE FOR CHANGES IN ALIGNMENT OR GRADE TO AVOID EXISTING INFRASTRUCTURE UNLESS THE EXCAVATIONS EXCEED TEN (10) FEET IN DEPTH.

38	Exist. 14" ACP Force Main (Grout Fill and Abandon in Place)	600	LF _	\$ 2.00	\$ 1,200.00	\$ 12.00	\$ 7,200.00	\$ 13.00	\$ 7,800.00	\$ 2.00	\$ 1,200.00
39	Exist. 12" ACP Force Main (Grout Fill and Abandon in Place)	2400	LF _	\$ 2.00	\$ 4,800.00	\$ 14.00	\$ 33,600.00	\$ 11.00	\$ 26,400.00	\$ 2.00	\$ 4,800.00
40	Exist. 6" Force Main (Grout Fill and Abandon in Place) Deflect Exist. 6" DIP WM @STA 40+50 (incl bends,	150	LF _	\$ 2.00	\$ 300.00	\$ 17.00	\$ 2,550.00	\$ 15.10	\$ 2,265.00	\$ 2.00	\$ 300.00
41	fittings)	1	LS	\$ 5,000.00	\$ 5,000.00	\$ 3,000.00	\$ 3,000.00	\$ 6,050.00	\$ 6,050.00	\$ 8,500.00	\$ 8,500.00
42	3" PVC Irrigation Main	540	LF	\$ 5.00	\$ 2,700.00	\$ 10.00	\$ 5,400.00	\$ 13.00	\$ 7,020.00	\$ 4.00	\$ 2,160.00
43	Connect to Exist. Irrigation Mains (incl bends, fittings)	1	LS	\$ 500.00	\$ 500.00	\$ 2,000.00	\$ 2,000.00	\$ 2,000.00	\$ 2,000.00	\$ 1,200.00	\$ 1,200.00
44	Test Stations for Tracer Wires	2	EA	\$ 500.00	\$ 1,000.00	\$ 4,000.00	\$ 8,000.00	\$ 1,500.00	\$ 3,000.00	\$ 1,500.00	\$ 3,000.00

# **TOTAL BID AMOUNT (ITEMS 1-44)**

	ALLOWANCE	\$50,000	\$50,000	
	BID TOTAL	\$ 1,449,895.00	\$ 1,569,840.00	\$
BID TOTAL \$				
Note: City permit fees shall not be waived and should be included	in your proposal.			
ALL BIDS MUST BE SIGNED WITH THE COMPANY NAME AND BY EMPLOYEE HAVING THE AUTORITY TO BID THE COMPANY OR F SIGNATURE.				
MATERIAL SAFETY DATA SHEETS ENCLOSED? YES	NO			
SPECIFICATION SHEETS/BROCHURES? YES	NO			
HAVE YOUR INSURANCE REPRESENTATIVE REVIEW THE SAMP	LE INSURANCE CERTIFICATE TO ENSU	RE COMPLIANCE.		
WILL YOUR FIRM ACCEPT PAYMENT VIA A CITY OF MARGATE P	ROCUREMENT CARD? YES	NO		

# V Engineering & Consulting Corp.

# \$50,000

# \$50,000

1,669,098.00

### 1,815,600.00 \$